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SN RAS
HH: PSS FOUBINUA BE 23
Sl RAS FOMBXE CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
faE 437,856 407,592 30,264
SME FOMPMHA BE B3 229,636 197,860 31,776
PUES FUMBXE 229,636 197,860 31,776
fHES FUFHAH 109,870 109,970 A 100
301 B A3 109,870 109,970 A100
10 BAA I 2 A S 900 1,000 A100
OLS L A S HAR AHZY
23 900,0002 900 1,000 A100
fas ZagRe 46,200 18,000 28,200
201 2Bt 16,200 18,000 A1,800
02 232l 16,200 18,000 £1,800
022232 2 XA A 13,500,008 13,500 15,000 A1,500
oozl 23 900,0008 900 1,000 A100
ONEE T ESE A 1,800,009 1,800 2,000 A200
401 NEHIL 2 THYI 30,000 0 30,000
01 Al 30,000 0 30,000
OBAM w22A 2 QIRAY &3
30,000,000 * 14! 30,000 0 30,000
PAS BN 57,216 53,390 3,826
201 2LEr2 A H| 23,750 22,500 1,250
01 Ak 22l bl 16,100 14,000 2,100
Ogur+ gl A 11,700,0008 11,700 13,000 A1,300
OXgURE 23 900,0008 900 1,000 A100
ORI DRIE 42F 500,000« 3,500 0 3,500
02 2Bl 7,650 8,500 850
OSE23 A 7,650,0002 7,650 8,500 £850
202 018l 27,216 30,240 A3,024
01 2Lhot8l 27,216 30,240 £3,024
OJl=d @40/l (1421)  AF 27,216,000 27,216 30,240 ~3,024
405 ThaHF St 6,250 650 5,600
01 TR 2B St 6,250 650 5,600
o™ 1,000,0002 *1CH 1,000 0 1,000
oWz 700,000 * 14 700 0 700
OF-E] 1,000,0002 *1CH 1,000 0 1,000
OFUSES 22 UMY HE
500, 000! *5CH 2,500 0 2,500
OTtEI & 400,0008 #1% 400 0 400
2AaS AN 1,350 1,500 A150
201 Yot | 1,350 1,500 A150




SN R4S
HE: PAS FOBIMUIA BS Y3
Sl RAS FOMBXE CERED
SA-3H-S(3AH) - MRAS - BES Ol &F o4 INEH Hns2
02 23Sl 1,350 1,500 A150
OF2g A2 SN2
ZE 1,350,0002 1,350 1,500 A150
SuE A 155,444 155,444 0
QUS ARBFUSAAY 155,444 155,444 0
2AS FoLRAY 150,540 150,540 0
401 AIEHIL 2 THHI 150,540 150,540 0
01 Al 150,000 150,000 0
RU2E 4 £6HE FHISAHL=100m,H=2n)
A 17,000,0008 17,000 45,000 28,000
OSA3E 0 & & X2 A(L=50m)
A 23,000,0008 23,000 30,000 A7,000
ORU2E NSES8D 5 AYR THZAL=
140m, B=3n 33 02 0 30,000 30,000
ORAIS 542 S &2 AHL=30n)
33 0% 0 25,000 £25,000
ORA3S T42 FHIZAHL=3In) ZF O 0 20,000 £20,000
ORA4E 0HE22 LETAH(L=70n, B=4n)
20,000,000 *14! 20,000 0 20,000
ORA20S SFUMHY 2 1JHA AT HHIS
At (L=350m, B=1~3m) 42,000,000 *14! 42,000 0 42,000
ORA2E MSE1SsD VYT2 BATAHL
=92, B=4n 12,000, 0002 14! 12,000 0 12,000
ORA20S SR8 NEHTZ FHIBAHL=20
7n B=2m) 28,000,000 *14! 28,000 0 28,000
OSA3E BER OlE 243 AH(L=80n)
8,000,002 *14] 8,000 0 8,000
fas HdF2H | 52,776 54,288 N1,512
Qas J|=ZYl 17,176 18,688 A1,512
24s J2PY| 17,176 18,688 A1,512
201 Lyt HH| 5,876 6,528 £652
01 AL 22l bl 5,876 6,528 2652
OETE= HH 2,700,002 2,700 3,000 A300
ozl A 3,176,0002 3,176 3,528 A352
202 01t 1,800 2,000 A200
01 2Lhot8l 1,800 2,000 £200
O=2l01Hl A 1,800,0002 1,800 2,000 A200
203 Y= F | 9,500 10, 160 A660
B EEEEEE S 5,940 6,600 2660
Ol YL =T A 5,940,000% 5,940 6,600 £660




